
� No.124-20-1 �

No.124-20-1 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 9871− 4396 = (2) 9162− 972 = (3) 9243− 3401 =

(4) 14345− 9410 = (5) 10736− 9504 = (6) 11127− 7580 =

(7) 13435− 7089 = (8) 13024− 9846 = (9) 5294− 3568 =

(10) 7266− 3014 = (11) 11380− 6498 = (12) 11242− 7974 =

(13) 7018− 4173 = (14) 7552− 2885 = (15) 8282− 2440 =

(16) 16191− 7876 = (17) 9463− 5873 = (18) 14676− 5598 =

(19) 12834− 5539 = (20) 18207− 9377 =

� 13th-note �



� No.124-20-1 �

No.124-20-1 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 9871− 4396 = 5475 (2) 9162− 972 = 8190 (3) 9243− 3401 = 5842

(4) 14345− 9410 = 4935 (5) 10736− 9504 = 1232 (6) 11127− 7580 = 3547

(7) 13435− 7089 = 6346 (8) 13024− 9846 = 3178 (9) 5294− 3568 = 1726

(10) 7266− 3014 = 4252 (11) 11380− 6498 = 4882 (12) 11242− 7974 = 3268

(13) 7018− 4173 = 2845 (14) 7552− 2885 = 4667 (15) 8282− 2440 = 5842

(16) 16191− 7876 = 8315 (17) 9463− 5873 = 3590 (18) 14676− 5598 = 9078

(19) 12834− 5539 = 7295 (20) 18207− 9377 = 8830

� 13th-note �



� No.124-20-2 �

No.124-20-2 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 4448− 112 = (2) 10570− 808 = (3) 9793− 8194 =

(4) 13069− 5419 = (5) 11860− 4714 = (6) 10494− 9082 =

(7) 16663− 8327 = (8) 1137− 422 = (9) 14751− 6892 =

(10) 17871− 9539 = (11) 4989− 2483 = (12) 7499− 4742 =

(13) 13288− 5050 = (14) 14230− 7438 = (15) 9774− 5861 =

(16) 10212− 643 = (17) 14307− 6842 = (18) 16056− 9054 =

(19) 254− 208 = (20) 8500− 4640 =

� 13th-note �



� No.124-20-2 �

No.124-20-2 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 4448− 112 = 4336 (2) 10570− 808 = 9762 (3) 9793− 8194 = 1599

(4) 13069− 5419 = 7650 (5) 11860− 4714 = 7146 (6) 10494− 9082 = 1412

(7) 16663− 8327 = 8336 (8) 1137− 422 = 715 (9) 14751− 6892 = 7859

(10) 17871− 9539 = 8332 (11) 4989− 2483 = 2506 (12) 7499− 4742 = 2757

(13) 13288− 5050 = 8238 (14) 14230− 7438 = 6792 (15) 9774− 5861 = 3913

(16) 10212− 643 = 9569 (17) 14307− 6842 = 7465 (18) 16056− 9054 = 7002

(19) 254− 208 = 46 (20) 8500− 4640 = 3860

� 13th-note �



� No.124-20-3 �

No.124-20-3 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 6979− 6603 = (2) 2286− 1047 = (3) 6715− 4946 =

(4) 11039− 5808 = (5) 18776− 9273 = (6) 4447− 2641 =

(7) 9078− 8620 = (8) 11190− 3937 = (9) 10557− 1737 =

(10) 9521− 3751 = (11) 3689− 3169 = (12) 9519− 5903 =

(13) 8196− 8174 = (14) 11383− 4200 = (15) 7167− 212 =

(16) 8916− 7375 = (17) 17637− 7967 = (18) 13119− 7507 =

(19) 13296− 8029 = (20) 6328− 5163 =

� 13th-note �



� No.124-20-3 �

No.124-20-3 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 6979− 6603 = 376 (2) 2286− 1047 = 1239 (3) 6715− 4946 = 1769

(4) 11039− 5808 = 5231 (5) 18776− 9273 = 9503 (6) 4447− 2641 = 1806

(7) 9078− 8620 = 458 (8) 11190− 3937 = 7253 (9) 10557− 1737 = 8820

(10) 9521− 3751 = 5770 (11) 3689− 3169 = 520 (12) 9519− 5903 = 3616

(13) 8196− 8174 = 22 (14) 11383− 4200 = 7183 (15) 7167− 212 = 6955

(16) 8916− 7375 = 1541 (17) 17637− 7967 = 9670 (18) 13119− 7507 = 5612

(19) 13296− 8029 = 5267 (20) 6328− 5163 = 1165

� 13th-note �



� No.124-20-4 �

No.124-20-4 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 12088− 8228 = (2) 10885− 9752 = (3) 11755− 4946 =

(4) 11499− 7835 = (5) 5751− 500 = (6) 9206− 780 =

(7) 6915− 6627 = (8) 1203− 267 = (9) 16635− 8152 =

(10) 10867− 2812 = (11) 16104− 6875 = (12) 16092− 7444 =

(13) 12492− 4530 = (14) 6859− 4970 = (15) 2857− 796 =

(16) 16262− 8155 = (17) 12494− 8790 = (18) 6317− 403 =

(19) 15972− 7114 = (20) 10320− 5083 =

� 13th-note �



� No.124-20-4 �

No.124-20-4 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 12088− 8228 = 3860 (2) 10885− 9752 = 1133 (3) 11755− 4946 = 6809

(4) 11499− 7835 = 3664 (5) 5751− 500 = 5251 (6) 9206− 780 = 8426

(7) 6915− 6627 = 288 (8) 1203− 267 = 936 (9) 16635− 8152 = 8483

(10) 10867− 2812 = 8055 (11) 16104− 6875 = 9229 (12) 16092− 7444 = 8648

(13) 12492− 4530 = 7962 (14) 6859− 4970 = 1889 (15) 2857− 796 = 2061

(16) 16262− 8155 = 8107 (17) 12494− 8790 = 3704 (18) 6317− 403 = 5914

(19) 15972− 7114 = 8858 (20) 10320− 5083 = 5237

� 13th-note �



� No.124-20-5 �

No.124-20-5 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 13939− 6528 = (2) 4489− 4061 = (3) 13062− 4417 =

(4) 4029− 3763 = (5) 11597− 7376 = (6) 7744− 4480 =

(7) 4289− 1961 = (8) 6736− 2711 = (9) 2209− 619 =

(10) 8814− 2656 = (11) 11227− 8513 = (12) 6441− 4031 =

(13) 16139− 7289 = (14) 13700− 6390 = (15) 12023− 5715 =

(16) 5387− 4537 = (17) 7210− 22 = (18) 7418− 104 =

(19) 9580− 1956 = (20) 7916− 1112 =

� 13th-note �



� No.124-20-5 �

No.124-20-5 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 13939− 6528 = 7411 (2) 4489− 4061 = 428 (3) 13062− 4417 = 8645

(4) 4029− 3763 = 266 (5) 11597− 7376 = 4221 (6) 7744− 4480 = 3264

(7) 4289− 1961 = 2328 (8) 6736− 2711 = 4025 (9) 2209− 619 = 1590

(10) 8814− 2656 = 6158 (11) 11227− 8513 = 2714 (12) 6441− 4031 = 2410

(13) 16139− 7289 = 8850 (14) 13700− 6390 = 7310 (15) 12023− 5715 = 6308

(16) 5387− 4537 = 850 (17) 7210− 22 = 7188 (18) 7418− 104 = 7314

(19) 9580− 1956 = 7624 (20) 7916− 1112 = 6804

� 13th-note �



� No.124-20-6 �

No.124-20-6 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 8095− 4376 = (2) 14629− 5769 = (3) 10325− 4365 =

(4) 9761− 5343 = (5) 5577− 3057 = (6) 6019− 4958 =

(7) 7591− 4671 = (8) 9268− 5585 = (9) 11695− 3087 =

(10) 5323− 3140 = (11) 10562− 3149 = (12) 14370− 6751 =

(13) 5262− 4826 = (14) 5489− 69 = (15) 11559− 9191 =

(16) 8027− 3069 = (17) 8145− 4077 = (18) 11796− 4037 =

(19) 8054− 1246 = (20) 13177− 7978 =

� 13th-note �



� No.124-20-6 �

No.124-20-6 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 8095− 4376 = 3719 (2) 14629− 5769 = 8860 (3) 10325− 4365 = 5960

(4) 9761− 5343 = 4418 (5) 5577− 3057 = 2520 (6) 6019− 4958 = 1061

(7) 7591− 4671 = 2920 (8) 9268− 5585 = 3683 (9) 11695− 3087 = 8608

(10) 5323− 3140 = 2183 (11) 10562− 3149 = 7413 (12) 14370− 6751 = 7619

(13) 5262− 4826 = 436 (14) 5489− 69 = 5420 (15) 11559− 9191 = 2368

(16) 8027− 3069 = 4958 (17) 8145− 4077 = 4068 (18) 11796− 4037 = 7759

(19) 8054− 1246 = 6808 (20) 13177− 7978 = 5199

� 13th-note �



� No.124-20-7 �

No.124-20-7 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 14527− 7322 = (2) 9588− 4981 = (3) 3840− 3528 =

(4) 9317− 4334 = (5) 13920− 4463 = (6) 12065− 5757 =

(7) 10508− 8334 = (8) 6112− 4576 = (9) 6265− 4568 =

(10) 16435− 8181 = (11) 4713− 522 = (12) 13528− 9556 =

(13) 17120− 7986 = (14) 3642− 479 = (15) 16215− 6756 =

(16) 11808− 2120 = (17) 7326− 497 = (18) 12022− 6896 =

(19) 17537− 8916 = (20) 12682− 8226 =

� 13th-note �



� No.124-20-7 �

No.124-20-7 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 14527− 7322 = 7205 (2) 9588− 4981 = 4607 (3) 3840− 3528 = 312

(4) 9317− 4334 = 4983 (5) 13920− 4463 = 9457 (6) 12065− 5757 = 6308

(7) 10508− 8334 = 2174 (8) 6112− 4576 = 1536 (9) 6265− 4568 = 1697

(10) 16435− 8181 = 8254 (11) 4713− 522 = 4191 (12) 13528− 9556 = 3972

(13) 17120− 7986 = 9134 (14) 3642− 479 = 3163 (15) 16215− 6756 = 9459

(16) 11808− 2120 = 9688 (17) 7326− 497 = 6829 (18) 12022− 6896 = 5126

(19) 17537− 8916 = 8621 (20) 12682− 8226 = 4456

� 13th-note �



� No.124-20-8 �

No.124-20-8 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 16425− 7577 = (2) 18423− 9625 = (3) 10848− 4559 =

(4) 9831− 3822 = (5) 15529− 9999 = (6) 13676− 3755 =

(7) 12934− 6848 = (8) 14549− 8529 = (9) 7002− 64 =

(10) 11524− 3485 = (11) 17290− 9060 = (12) 12937− 5052 =

(13) 12691− 4887 = (14) 3849− 1203 = (15) 9096− 4241 =

(16) 18086− 9191 = (17) 9758− 3545 = (18) 16681− 7850 =

(19) 14204− 4723 = (20) 14615− 9580 =

� 13th-note �



� No.124-20-8 �

No.124-20-8 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 16425− 7577 = 8848 (2) 18423− 9625 = 8798 (3) 10848− 4559 = 6289

(4) 9831− 3822 = 6009 (5) 15529− 9999 = 5530 (6) 13676− 3755 = 9921

(7) 12934− 6848 = 6086 (8) 14549− 8529 = 6020 (9) 7002− 64 = 6938

(10) 11524− 3485 = 8039 (11) 17290− 9060 = 8230 (12) 12937− 5052 = 7885

(13) 12691− 4887 = 7804 (14) 3849− 1203 = 2646 (15) 9096− 4241 = 4855

(16) 18086− 9191 = 8895 (17) 9758− 3545 = 6213 (18) 16681− 7850 = 8831

(19) 14204− 4723 = 9481 (20) 14615− 9580 = 5035

� 13th-note �



� No.124-20-9 �

No.124-20-9 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 10468− 6445 = (2) 6032− 105 = (3) 5805− 471 =

(4) 9893− 1392 = (5) 4817− 1552 = (6) 1867− 1042 =

(7) 9017− 3673 = (8) 15812− 5990 = (9) 13883− 6905 =

(10) 10842− 9702 = (11) 7068− 6033 = (12) 4158− 2680 =

(13) 8811− 6627 = (14) 5713− 1980 = (15) 7097− 3123 =

(16) 13651− 5156 = (17) 15919− 6742 = (18) 2162− 686 =

(19) 11458− 7473 = (20) 7141− 1610 =

� 13th-note �



� No.124-20-9 �

No.124-20-9 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 10468− 6445 = 4023 (2) 6032− 105 = 5927 (3) 5805− 471 = 5334

(4) 9893− 1392 = 8501 (5) 4817− 1552 = 3265 (6) 1867− 1042 = 825

(7) 9017− 3673 = 5344 (8) 15812− 5990 = 9822 (9) 13883− 6905 = 6978

(10) 10842− 9702 = 1140 (11) 7068− 6033 = 1035 (12) 4158− 2680 = 1478

(13) 8811− 6627 = 2184 (14) 5713− 1980 = 3733 (15) 7097− 3123 = 3974

(16) 13651− 5156 = 8495 (17) 15919− 6742 = 9177 (18) 2162− 686 = 1476

(19) 11458− 7473 = 3985 (20) 7141− 1610 = 5531

� 13th-note �



� No.124-20-10 �

No.124-20-10 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 14051− 9305 = (2) 8072− 2829 = (3) 10974− 5291 =

(4) 9414− 863 = (5) 16516− 9459 = (6) 7830− 5592 =

(7) 10678− 2164 = (8) 13434− 8053 = (9) 15091− 5190 =

(10) 11674− 6971 = (11) 13212− 9546 = (12) 8235− 3154 =

(13) 14158− 5961 = (14) 16244− 9800 = (15) 7202− 1515 =

(16) 7362− 533 = (17) 12547− 8701 = (18) 8148− 7737 =

(19) 8690− 5233 = (20) 12142− 5291 =

� 13th-note �



� No.124-20-10 �

No.124-20-10 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 14051− 9305 = 4746 (2) 8072− 2829 = 5243 (3) 10974− 5291 = 5683

(4) 9414− 863 = 8551 (5) 16516− 9459 = 7057 (6) 7830− 5592 = 2238

(7) 10678− 2164 = 8514 (8) 13434− 8053 = 5381 (9) 15091− 5190 = 9901

(10) 11674− 6971 = 4703 (11) 13212− 9546 = 3666 (12) 8235− 3154 = 5081

(13) 14158− 5961 = 8197 (14) 16244− 9800 = 6444 (15) 7202− 1515 = 5687

(16) 7362− 533 = 6829 (17) 12547− 8701 = 3846 (18) 8148− 7737 = 411

(19) 8690− 5233 = 3457 (20) 12142− 5291 = 6851

� 13th-note �


